ICADE.

ROCKER GUARDS WITH

STEP

(2021+ FORD BRONCO - 2 DOOR)

INSTALLATION INSTRUCTIONS

CONTENTS

(1) LH Rocker Step

(1) RH Rocker Step

(1) Front LH Mounting Bracket (-DF)
(1) Rear LH Mounting Bracket (-DR)
(1) Front RH Mounting Bracket (-PF)
(1) Rear RH Mounting Bracket (-PR)
(8) M10x1.50 x 30mm Bolts

(8) M10 Lock Washers

(8) M10 Flat Washers

(8) M8x1.25 x 25mm Combo Bolts

TOOLS REQUIRED

13mm, 16mm Sockets
Ratchet

SKU # FB12817



STEP1

Install (1) LH front mounting bracket to the threaded holes in the vehicle rocker panel using (2)
M10x1.50 x 30mm bolts, (2) M10 lock washers, and (2) M10 flat washers. Do not fully tighten.

Note: Mounting bracket is labeled “-DF”.

STEP 2

Install (1) LH rear mounting bracket to the threaded holes in the vehicle rocker panel using (2)
M10x1.50 x 30mm bolts, (2) M10 lock washers, and (2) M10 flat washers. Do not fully tighten.

Note: Mounting bracket is labeled “-DR”.



STEP 3

Install the rocker armor to the mounting brackets using (6) M8 x 25mm bolts into the threaded
inserts in the rocker armor. Tighten until secure.

Note: The rocker armor is dedicated to each side, note the locations of the threaded inserts.

STEP 4

Fully tighten the mounting brackets to the vehicle. Repeat steps 1-3 to the opposite side of the
vehicle.

Installation is now complete.



	FB12817 - Barricade - Rocker Armor with Step (21+ Bronco 2 Door)-01
	FB12817 - Barricade - Rocker Armor with Step (21+ Bronco 2 Door)-02
	FB12817 - Barricade - Rocker Armor with Step (21+ Bronco 2 Door)-03

